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Quiz Start Time: 01:50 PM. 05 June 2018

® CS508:Quiz # 1
Question #4 of 10 (Start ime: 01:55:16 PM. 05 June 2018 Total Marks: 1
[OW [1tis ahways betier to find out the mistakes in the code at
>
4
‘Select the correct option
a8 [Compile time
o “
Link time.
=
o “
Run time.
o “
None of the given options
L] “
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® CS508:Quiz # 1
Question #3 of 10 ( Start ime: 01:53:37 PM. 05 June 2018 Total Marks: 1
[o@ [initial version of SONOBOL only supports and string
>
4
‘Select the correct option
a8 Digts
o “
Exponential Numbers
=
L “
Real Numbers
o “
Integer
o “
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Quiz Start Time: 01:50 PM. 05 June 2018

® CS508:Quiz # 1
Question #2 of 10 ( Start ime: 01:52:25 PM. 05 June 2018 Total Marks: 1
[OQ [[15P was basically developed to soive problems.
>
4
‘Select the correct option
a8 [Artficial inteligence
L “
[Accounting
=
o “
[Scientific
o “
Business
o “
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Quiz Start Time: 01:50 PM. 05 June 2018

® CS508:Quiz # 1
Question # 1 of 10  Start ime: 01:50:30 PM. 05 June 2018 Total Marks: 1
a BB Enumeration type can also be used as indexes in arrays.
>
4
‘Select the correct option
2 Ada
o “
c
=
L “
Cor
o “
LisP
o “

1:52PM
2018
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Quiz Start Time: 01:50 PM. 05 June 2018

® CS508:Quiz # 1
Question # 10 of 10 ( Start fime: 02:02:35 PM. 05 June 2018 ) Total Marks: 1
[oW [ Ada programming language Tagged types are used for
>
4
‘Select the correct option
a8 [encapsulation
o “
[defining extensible types
=
L “
both encapsulation and type definition
o “
Neither encapsulation nor type defintion
o “
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Quiz Start Time: 01:50 PM. 05 June 2018

® CS508:Quiz # 1
Question #9 of 10 ( Start ime 02:01:50 PM. 05 June 2018 Total Marks: 1
[OW [Indirect referencing in SONOBOL is same as of ___inC.
>
4
‘Select the correct option
] [Amays
o “
Pointers
=
L “
[Aliasing
o “
[Stack
o “

202PM
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Quiz Start Time: 01:50 PM. 05 June 2018

® CS508:Quiz # 1
Question # 8 of 10 ( Start ime 02:00:43 PM. 05 June 2018 Total Marks: 1
[OW [~da supportall of the given loops except
>
4
‘Select the correct option
a8 [do-while loop
o “
[while loap.
=
o “
forloop
L “
both do-while and while loop.
o “
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CS508:Quiz # 1

Total Marks: 1

Question #7 of 10  Start ime: 01:58:58 PM. 05 June 2018
[ofll | Following factors influences a portable language design EXCEPT

‘Select the correct option
a8 [Computer architecture

(¢] B

Readabilty

= fo) “

Programmer's time

[Windows XP

200PM
6/5/2018
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Quiz Start Time: 01:50 PM. 05 June 2018

® CS508:Quiz # 1
Question # 6 of 10 ( Start ime: 01:58:31 PM. 05 June 2018 Total Marks: 1
[OW [Following are object ariented programming languages EXCEPT
>
4
‘Select the correct option
a8 o
L) “
[JAVA
=
O “
LisP
O “
=3
O “
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® CS508:Quiz # 1
Question #5 of 10 ( Start ime: 01°56:34 PM. 05 June 2018 Total Marks: 1
[oW [ LiSP- following statement returns the difference of the two lsts
>
4
‘Select the correct option
a8 (Diference L1 12)
O “
(set-diference L1 12)
=
O “
(L1 Difference L2)
L) “
(L1 difference L2)
O “





